Name: Period:

Dynamics-Newton's 3rd Law

1. A student pulls a 60-newton sled with = 6. When a child squeezes the nozzle of a garden hose, water
a force having a magnitude of 20 shoots out of the hose toward the east. What is the
newtons. What is the magnitude of compass direction of the force being exerted on the child
the force that the sled exerts on the by the nozzler
iﬁudzegt;\] 7. A 100-kg boy' and a 50-kg girl, each h(?lding a.spring
2 AN scale, pull against each other as shown in the diagram

: below.
3. 60N
4. 80N

2. Ifa 65-kilogram astronaut exerts a force with a
magnitude of 50 newtons on a satellite that she is
repairing, the magnitude of the force that the satel- TTTI T 77777777 /T
lite exerts on her is 'The graph below shows the relationship between the
1. ON magnitude of the force that the boy applies on his spring
2. 50 N less than her weight scale and time.

3. 50 N more than her weight Boy’s Force vs. Time
4. 50N 24.0

3. A 400-newton girl standing on a dock exerts a force % 16.0
of 100 newtons on a 10,000-newton sailboat as she S
pushes it away from the dock. How much force does 2 80
the sailboat exert on the girl? a
1. 25N
2. 100N °3 10 20 30
3. 400N Time (s)

4. 10,000 N Which graph best represents the relationship between the
magnitude of the force that the girl applies on her spring

4. A carpenter hits a nail with a hammer. Compared scale and time?
to the magnitude of the force the hammer exerts on Girl's Force vs. Time Girl's Force vs. Time
the nail, the magnitude of the force the 240 _240
nail exerts on the hammer during % %
contact is %16'0 316.0
1. less :,I; 8.0 I;; 8.0
2. greater g g
3. the same %% 10 20 30 %9 10 20 30

Time (s) Time (s)

5. A woman is pushing a baby stroller. Compared to (1) (2)
the magnitude of the force exerted on the stroller by Girl's Force vs, Time Girl's Force vs. Time
the woman, the magnitude of the force exerted on 24.0 24.0
the woman by the stroller is : z z
1. zero p’ 8160 8160
2. smaller, but greater than zero of '-E 60 l-E 80
3. larger Ll T — T
4. the same 5o N ° %

85 8 =¥ b 10 20 30 0 1o 2o 30
Time (s) Time (s)
(3) (4)
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